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istn. kabel telef. Ro=87,65

istn. gaz. 290 Ro=87,25

istn. wod. 232 Ro0=86,90

istn. kabel telef. Ro=88,07

istn. wod. 2160 Ro=87,30

istn. gaz. 100 Ro=87,45

istn. kabel energ. NN Ro=87,86

istn. kabel energ. NN_Ro=87,86

istn. kan. san. 2160 Rd=86,36

istn. kan. san. 2160 Rd=86,33

istn. wod. @32 Ro0=86,74

istn. wod. 232 Ro0=86,30

istn. gaz. 290 Ro=86,40

istn. wod. 2160 Ro=86,19

istn. kan. san. 2250 Rd=85,38

istn. wod. 2250 Ro0=86,40

istn. kabel energ. NN Ro=88,39

istn. kabel energ. NN R0=88,39

do likw. kabel energ. NN Ro0=89,30

proj. kabel energ. NN Ro=89,35

istn. wod. 2250 Ro=89,19

proj. kan. san. 200 Rd=88,69

istn. kabel energ. NN Ro0=90,36

istn. gaz. 825 R0=90,22

istn. gaz. 290 Ro=89,93

istn. kabel telef. Ro=90,60

istn. wod. 2160 Ro=89,87
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